¥00c/20/L L

¢ Xopa) ogfle g suielN GG/ /
auJep\ ins sdweyn - sepeasaq aj)

[eosed asie|g anusAe § 18 9
OdN3/SOINSEFO

IUBJOJ\ B|ODIN




S}jnsaJ [eouswnN ‘€

ULIp ay) buibueyo Ag aouele bulonpay ‘'z

wyllobje zuemyos-yeisbuo]
ay)] pue buiwwelsboid olweuAq




e
{("x )T )@ (x ) S ixew N (%x ‘O)fg = On
(Lx‘p)f =N}

"uoljejuswa|dwil

|easwinu piemiopybiens

(,) uoneyuswsa|dwi [eoBWNU ASes « e 9Aey 0} 9|qissodul, :M3IA JO
Juiod |eonjeld e wody sjgeieanun

snjnojeo 1o1jdxa Joj

Blgenojwooun, [eanal Aew « (,) Aoayy BulApnis uaym ajpuey o} Ases .
uone|nuw.oy
B|NW.I0J PASO[D OU e |eanewaylew ueajo, pue 10edwoo «

wa|qoid wa|qodd
Buiwwelibolid olweuiq awli] Bbuiddolg jewndo




1%
(x="x"*n)a=(x)"

? Ndmvm.@lﬁi N = wdlidv
@) ()1 T Ul Bie = o

olieD SJUo|\

r
& 9.p— I+lA|- —
o9 W ulw = !
H bae 0 | suonewixoidde




X+ <—N
1oL

{("x

)

2.

Evb
L~ ¢ — W
( (W)X L) = iy
oW %
(Ix N

‘DS Ixew =

w



ssa00.d wopue |ewsoubol payup Joj suied palejnuisg

|I9POW pajjli(



- i0 uo puadap |ON saop % -
ijaJnseaw uonelbajul ul sbueyd e ueyy aiow Si siy| ‘Ad e s| %1 - :syueway

==l
ﬁZ\A%ﬁQ“ZnS.v_”b H\/w ﬁAO“Nﬁva‘.\.WX@E === Azhgmub

waJoay | lwi |enuan
wyjliobe ‘g 1 ay) Jo aosusbiaAuod ay) dn spaads

UOIUM JLIP BY) "9'1 4P [EWNdO SY) pulj O} JUBM SN




8 (eaJ] elwald) Ylewyouag ayl Yylim pioooe poob AlaA ul ale sadlld «
jon|eA |eniul s}l Jo 9%,¢ 'z 0} dn paonpal S| SoUBLIEA

eaLy
0 S0 k- S e- gec €- Se - St
K]
A ) *Hsadng, z0
Nl 5%
¥ X ™.
5 %
k\x- fVA
v'o
P vr.x,
X X
X .._
I \ vm.
¥ . 90
\. X.
o B g
¥ % °
= 80
* i
/ %

“IEIIToiRel Senbs Uesil
! —+— oiyeu soud
1 1

Z 0=ewbis‘00L=s‘08=)




6 i9011d 80UalIaJal Y}IM pJOJJOE poob A9\

oljes aond

z'0=ewbis ‘001=2S=1S ‘06=)



oL (%€°2 > 1ep UlN) L 0=UIN

< SL0
4 20
-1 S2'0
-1 €0
-1 SE0

IREENE 0

WA
sl

e PHTE 7
LT

] BT 7
.

Z'0=ewbis'00L=s'06=4



Ll

€909cCc9 0 c0t0cCco6'0 ¢- |1 90 ¢- |1 90 T-
c60S7ve 0 L9101 G°0-|]90- T- T- T-
evrclee 0 1.819496°0 S T-]14G90- T- T- T-
T€E80C'0O S8C0TI0'T OT-| OT|OT-|OT-|0OT-
6047 0 /9101 G0-| 90 T- T- T-
196170 OVOTO' T G0-190- |91 T- T-
1€/80°1 89,680 ¢~ ¢~ ¢~ C- C-
“(0)1en/(p)ien/N | (0)oo1ud/(9)201d S9 g €9 <P Ly

Josse paje|allooun ‘qg ‘uondp ueouswy jo¥seq Ind

S11NSdd 1VOIddNNN




¢l

(%Y JeAUIN) 270 UIIN

£

OOOT=SUoETai] S0 08=STRUL O
& o= T =rmEis 00T=23=15' 05="
PELELY s T L1 BEVF |

(0)1en/(9)1en/t oney
Josse paje|allod ‘qe ‘uondp ueouswy 193seq 1N

S11NSdd 1VOIddANNN




€l

(%11 JeAUIN) 2€°0 UIN

000C=SUCnEINT I 08=SE0 -3
9 =01y 0=twSIs 00 1=S=15"06=2
12858 (J7 uondQ uednawy upanng

8!m>\€tm>\/ olley

Josse paje|allod ‘qe ‘uondo ueouawy UIA 104

S11NSdd 1VOIH4dNNN




oL (%21 JBAUIIN) 1170 UIN

008T=121" DN N8=ST2 0L DN
L0=0y°0e=CS"001=18"011=Y
12s5E (JT (B J0 1599



al

onel asenbs uesw

2 0=ewbis'001=2s=15'06=)

oifes asenbs uesw

Z'0=ewbis'001=5"08=3




9l

SaUO OJUO|\-SUIqqOy 8y} Se swyjllobje o1seyools

as10a1d pue ise} Ag pajewise aq ued

ulw

n30 ¢

s)nsaJ jewndo-qns poob senib 150 1|

I€0
€0
er 0
0€0
¢¢0
LE0
8T°0
10

I¢°0
0¢0
LE0
IT°0
0¢0
cCc0
ST°0
v1°0

(00T 00T ‘00T ‘00T ‘00T) =9 '00T = ¥ 'S 9d
(00T ‘00T ‘00T) = %X ‘66 = ¥ ‘7€ 9d
9°0=7'(00T'00T) =9X ‘06 = ¥ ‘d¢ WNd
L0=17(06'01T) =9X ‘06 = ¥ ‘¢ D9
8'0=17(001°00T) =% ‘06 = ¥ ‘'dT 9d
(02'G01) =0x ‘06 = ¥ ‘d¢ 9d

(00T‘001) =0X ‘06 = X ‘d¢ 9d

00T =9X ‘08= Y ‘01 9d

(0)4eA/(ilitg)sen )

(0)4en/ ("l

9)IeA

[9POIN

CWNNNINIW AHL 41LVINILSE M d'1NOD MOH




Ll
suonewixoidde jewinpdo-qgns 1aylinj awWos aAey am :AlljlesIa "¢

0,z 0] dn aoueleA Jo uononpal :Aousioiyg g

(suoisuawip

Arejusws|ddns =Aed 03 ao1id) sjapow Ajljiie|oA
O11SBYO0]S 0] 9|qepuslxe < sS$a20.1d AOIB|\ uoIsSnyiq
uonouny yohed s.,7




